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Architecture of Data Warehousing with diagram.
q

Explain ETL process with,h,:$ tliagram.

OR
Explain the schemas of .i-dimensional data mode,h..
Explain data cube opem*ib{& with example. i;il'.

';;':::' ':;-t:i!i'" MOdUIe-2
Explain differen&.In&thods of indexing OLAP data.

Explain the folto;ifug preprocessing technffis :

(i) Feature subset selection. ::':::::' :: (iD

". \rr(
List the.dffi'erent types of Dataset arrd explain with an ex4rnple.
Considei X = (0, 1, 0, 1), Y :,i6.8";0, 1, 0). Find cosin€; eoruelConsidgi X = (0, 1, 0, 1), Y :,i( ":0, 1, 0). Find cosin€;:ioruelation, Euclidean, Jaccard and

OR
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A database has five traii#ions. Let mrn sun = 6$d/o and min conf : 80o/r.

Table 05 (a)

SMC
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Table : Q6 (a)

TID ltems.boueht
100 {[ a. c, d. g, i, m, p]
200 {a, b, c, f, l, m, o}
300 {b, f, h, i, o}
400 {b, c, k, s, p}
s00 {a,f,c,e, l,p,m,n}

Let min-support,L 3

Explain the Sbrious measures of evaluating association patterns-
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I Tsoo | {C,o,o,K,I,E} |

(, Fihd all frequent ik&d&tt using Apriori Algorithm.
.(iDt' t't, all the strong ass6iiation Rules.'r::r,r'|l' ,12 Marks)

!. "; ntifu and explain=:{1-r€alternative methffi. fibr generating frequent itemsets. (08 Marks)

OR
6 a. Construct FP,,,r;tree by showing tree:l:separately after reading each transaction and find the

frequent itedrait generation. Cor,i$'ider the transaction dataset :
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(08 Marks)7a.
b, Build a decision tree usins Hun't A rithm for

Tid Home
owner

Marital
status

Annual
lncome

Defaulted
Borrower

yes Sinele r25 K
2 No Married 100 K No* w
aJ No Sinsle 70K Dibdw
4 Yes Married 120 K
5 No Divorced 95K ':!.ii--Yes

6 No Manied 60 IG,* *,rNo
7 ves Divorced 22ffK flNo
8 No Sinsle 8qre=' Yes

9 No Married TsdK No
10 No Sinsle +,r s90 K Yes

Table q7,O)

.;t

Jlwriq#a($i

{ .."8L i

&#*,i ''" (12 Marks)

,,'",..';, Il1 Offi
8 a. Explain K-nearEqf,heighbor classificatioffiffiithm with example. (08 Marks)

b. State Bayq theoiem and explain how baffiheorem is used in the Naive Bayesian classifier
with exq4Pte,, (12 Marks)

,1, ,;iiq(irii;::r **r==u-,@dUtq5, ,:.
9 a. Calculate the cluster for the fol16wing 8 points (x,,9);'ffiresents into 3.,""plusters

Ar(2, 10) Az(2,5) A3(8, 4) Br(5, 8) Bz(7,5) B3m'4) Cl Q,2) Cz(4,9) 110 Marks)

b. Explain the following :-.,"u-- ? {XJ.*'
(i) Density based cbi+.#efing. m]'u* i.$(i, Graph based clqpteiing. .*- k (10 Marks)

,.*bR
10 a. What are the'b{Eic approaches usgd-"for'generating qagglomerative hierarchical clustering?

,: * i=l -"_):.. (10 Marks)
b Exptal,trPescaN aborithry;iryr.":::. 
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